
1) Decrease 50 by 58%

Answer: ____________

2) Solve 9f2 + 5f - 10 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

3) Find perimeter of 
triangle
a = 98 ft, b = 100 ft,
c = 101ft

Answer: ____________

4) (3 x 86) / (2 x 81)

Answer: ____________

5) A number was shared in the ratio 
2:17. The smaller share was 40. 
What was the larger amount?

Answer: ____________

6)
15 Find Volume of Cone

14

Answer: ____________

7) Find the value of 's' by completing the 
square of the following equation: 2 + 
6s + 8

Answer: ____________

8) 88 - 79

Answer: ____________

9) 1/72 of 216

Answer: ____________

10) 13/7 ÷ 61/2

Answer: ____________

11) 12/5 x 2/5

Answer: ____________

12)

Name the type of angle.

Answer: ____________

13) 14 - (-39)

Answer: ____________

14) Round 21.27470627 to 5 significant 
figures.

Answer: ____________

15) 42 - 41

Answer: ____________
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16) Solve 2x2 - 13x + 14 = 0
Round your solutions to 1 decimal 
place.

Answer: ____________

17) 1/3 + 3/6

Answer: ____________

18) Decrease 48 by 50%

Answer: ____________

19) Increase 216 by 1/108

Answer: ____________

20) (4 x 4-1) + (2 x 99)

Answer: ____________

Total: ___ / 20
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Answers:

1) 21 2) f = 0.8 or -1.4 3) 299ft 4) 49152 5) 340 6) 769.6902001295 7) (s + 3)2 - 1

8) 9 9) 3 10) 20/91 11) 24/25 12) Acute 13) 53 14) 21.275

15) 1 16) x = 5.1 or 1.4 17) 5/6 18) 24 19) 218 20) 774840979
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